Series JMS/1 SET-1

?iijlﬂn, 32!1!1

Eﬁﬁ il iz 1 Iw-IEE % gE-
3l 78 Wt 7 T
Candidates must write the Code on
the title page of the answer-book.

ﬁﬂﬁﬂ' HOT 3 o2
Time allowed : 3 hours

Ft el it ol B g we-ua d g g 1041 aefE £

Tr-74 # i g i @R fw m Fim T A I Tw-TE ¥ gE-m W
fert

FET S A T 56 WE-TT H 26 W §

FOAT WU T I e O o ® wed, e i arava fere

T W~ e % T 15 fre = w R mn #) ww-uw e gt §
10.15 5= far smum| 10.15 79 ¥ 10,30 99 9% 91 Ha5 -7 F 52 #n
vH watl & droe 3§ S-gftaen R 3t AE fond)

Please check that this question paper contains 10 printed pages + 1 map.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 26 guestions.

Please write down the Serial Number of the question before attempting it

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-hook

AT He
SOCIAL SCIENCE

ey 31 - 80
Mervintum marks » 80

S

[P.T.O.




e e

ararg 33

(i
(ii)
fiit)
(iv)
(v}
(vi)

fvii)

(viii)

57 TT-49 F) o @vel 4 Eia fE T e U8 %, G,
@vE 3 EWE g/

T T T 26 T E

¥ y# wfAard B

T T ¥ o 34F qEd T T B

o G 1 8 7 7% S Y- ¥ 81 Heds 9o 1 Hew
< 8 e T T 3 30 1 @ A A G e |

v e & & 18 7 9w 5 3 o w121 §H 8 9w 0 ¥
T 80 S35 @ Sife %7 TE g AT |

T G 19 @ 25 7% Neiw 59 5 3% 7 1§90 @ WA T ;W
Ja7 100 T & Al @ 87 g7 TE |

v de 26 AT W § 5% w1 81 56 & v & 26(4) it
26(B)!26(4) 2 37 7 & 2lFE @ 797 26 (B) 3 5% #1 il @
3) wrafrs w7 5 g0 9 9T 8 37T F- I & Haw A F

General Instructions :

i)

fid)
(ifi}
ﬁVJ
)

32141

The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

The guestion paper has 26 questions in all.
All guestions are compilsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are very short answer fype
questions. Each question carries 1 mark Answers fo these

should not exceed 30 words.,




(vi) Questions from serial number 8 10 18 are 3 marks gquestions.
Answers of these questions should not exceed 80 words
each,

(vii} Questions from serial mumber 19 to 25 are 5 marks questions.
Answers of these gquestions should not exceed 100 words
each,

(viii) Question number 26 is a map question of § marks with two
parts — 26 A from Histary (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
WIE-F
SECTION-A
1. 19af s & G gl o il 89§ e’ ) sren S 1
HEET

"I Teel g ¥ st e | wieltfe & grmem i smen fifm)
Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe,

OR
Interpret the contribution of French in the economic development
of Mekong delta region.

2. SF A B4 A W o) aeE A gdt 1
HeET
arfra wrmsll @ argER whEN 3 awaw ) At 5 oaen 1§ R
EE@ &7
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages

helped to spread their popularity?
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3. e § st fEmrd - Frcfee & fam &8 seerh 37 1
He
dtifz Fenm g~ & forg &8 aanf &7

How is over irrigation responsible for land degradation in Punjab?
OR

How is cement industry responsible for land degradation?

4. TifoE Y & weE A T et g 5 Ry e wen §7 1

How can democratic reforms be carried out by political conscious
citizens ?

5. fudi avdfim werd F forg ot o % wEy | faww w1 v e A
Heh 27 1
T
ST o B T o e o etea =1 8 g 27

What may be a goal of landless rural labourers regarding their
income?

OR
What may be a goal of prosperous farmer of Punjab?

6. gt ve ‘fduE’ duwi g e we Fifaw) 1
Distinguish between *primary’ and *secondary’ sectors.

7. & HUE TS T F FEe G Fonan ) gin o591 57 1
Why do banks or lenders demand collateral against loans?

avE-3
SECTION-B

8. iferas #1 wfgar =1 wre famm & i gt § B wen e R
77 IETET AfEe sumE S| Ixl=3

HEET
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9.

10.

11.

13.

fergeem & anfds wfe & foo faier 9 sl 6§ sz ofim
BT T |

How had Napoleonic code exported to the regions under French
control 7 Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

S T R TR S O gl et e w2 3w

TE17 SETel Higd sarE Fie)| 3x1=3
AT

gl § el w4 & A a9 R v @ F g gave @

IeT 11 W A7 Tl afee sy i)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples,

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

ol e | 1 R o g Pt = ke fifem) 3x1=3
HEET

I ¥ | ) Tl e wg fasteat s ats fifm)

Describe any three main features of *Rabi crop season.’

OR
Describe any three main features of “Kharif crop season.’

ur | fommer s At e ww A et oo g awd
21" gm e = Fvemo i Ix1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement.

"“ferlt St 20 | A Afimmsi m S S s v A 2

ST Ty off 81 el £1"" q1 wfed 59 F9 2 fe Fifw 3
areran
EEE
&
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“amTfere e e @ walEa s §) 5e s A wa Bl

“The assertion of social diversities in a democratic country is very
normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

13. "WE W AT & s A wfgenstt fr By § 5o gaw gan 2, wy
st ot el & Shl e 1 v e o T i) 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement,

14. 9E ¥ TEAlfoE qel e wen it o adle e % =9 8w
Tt 87 el wfte =mem Fifim) 1%+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples,

15. "waiEm § froez & wfiom mite i o= Aot = e ww
T U ] JTIET SEOG | 3

“Consequences of environmental degradation do not respect
national or state boundaries."" Justify the statement.

16. WRA H {eia Sae Heean a4l w1 1 &7 feed 7 s £ s
shifar 3
YT
foreht 291 F werel Wi SETR (sf. 2. ) 3 w0 forg Rl gt
3T s 1 o B A e 27 3ee v e Hifvm)
Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.
! OR
How do we count various goods and services for calculating Gross
Domestic Product (G.ID.P.) of & country? Explain with example.

32411 6




17.

18.

20.

32/1/1 7 [P,

sifeles T = oo 3 aivwanfiss @il % e w0 golq Aifg
areraT
AT W % Ei 1 Foan T ags arel gt wrEt = goi Fifi

Describe the importance of formal sources of credit in the
egonomic development.

OR
Describe the bad effects of informal sources of credit on borrowers,

IR 319 ‘efaafe FrEmn’ & sifrmr W I B gwn w0 o
27 Farern Afea =men £

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

LCRES|
SECTION-C

1930 # frgd aferdl =t ‘=fim =t weifioym’ § onfas fen? s
st 1 aviq Hifsm

HYET
HiETg S R st 1 oftaifie i) “afiem s e
H it o wler e aert 1 weafira = 3o $if)

Who had organized the dalits into the ‘Depressed Classes
Association’ in 19307 Deseribe his achievements.

OR
Define the term ‘Civil Disobedience Movement." Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.”

“wefrerll el ot Fovm svedlemaa w1 w9 @ e A v s 0w
sren ftrt s £ o) 38 w0 e Sif)

Heran
el sreredl % Teet g o wHA  sieifie w5 wEey wE A
=i Tz W o1 g a1 5w wee = favetre i
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HEUET

*yrafee e § ArEmTE A TR ¥ ey W e g9 e 8
wiaw % T dest # g5 wua = fawerw ifi)
“Indian trade had played a crucial role in the late nineteenth
century world economy.™ Analyze the statement,

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement,

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

11, WEE # Fam st el & R e gen faeen 87 ssmon
Hﬁamﬁf?ﬂl ixl=5

How are industries responsible for environmental degradation in
India? Explain with examples.

23, “‘ura § HeF vRaEEd, W aiEe Fi et Afies gies 1) Fe
=1 IRl |iEa 1fE i) Sx1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples,

23, feufh, srsn oin grepfs wege + s 7 AfTem H e A

feurfir <t gern i) 1 +1+3=5
e

arareT 1 T S A s W Y waEia g e %

fafire e it s Fife|

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.
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24. Tauiam & 39w & = § dEAiEs Saty & 98 & v
Fifam | sxi=5

Describe the importance of democratic government as an
accountable and legitimate government.

25, awiEta ST AT o foe waiea o) FREE e e aE
3 it et wenf wet #7 et wie s it smEn i) 5x1=5

Why do multinational corparations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

WUE -5 (HHEE T )
SECTION-D (Map Question)
26. (A) 3 =& A 3t B fiu T wwa & geifos -t d sl
fipr Mo | 37 wan =t Pl sEwl o geEa @ gwEi
sff 37 Tt A W T e i e w - 1x2=2
(a) o% T sl vedTE T FwREE AT g
(b) =% W e Stergiaten a1 = 9] g
(B) 3t v Mo v & veHiTo -t A Feafefee 1§ 8 R
1 =1 I femt @ guriey 3i 39 T fofa 1x3=3
(i) FeTgaRn — oA e 593
(i) Tesmam - e o T v
(iii) RN ~ AT FAlETE! U
(iv) TR - §HF 9T
(v) GERFIE - 7Y
A Freafafed v ezt ahenfiat % fom ww e 26 %
v . fopell w1 oo i - 1x5=5
L (i) oE g Am el set sifertaren =m A w2 g
(if) 3@ T s ferfe et i 3 s e dren
(iif) 3% T 1 ferfan st -’ wen i g
(iv) 38 U= w1 o et sl o wgd o feim 2
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(A)

(B)

Note :

32/141

(v) 30 7Y & 7w fafae st femam o o = gds
2

(vi) 38 T 1 AW fefan sl Mug afesm It o
o B

(vii) *TETE wE iy e 9d waa 27

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b} The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam = Nuclear Power Plant

(ii) Vijayvanagar - Iron and Steel Plant
(iii) Neida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 26. Attempt any five

questions.
(i)  Name the state where Jallianwalla Bagh incident took
place.

(ii)) MName the state where Gandhiji violated the Salt Law.

(ili) Name the state where ‘Chauri-Chaura’ incident took
place.

(iv) Name the state where Paradeep Sea Port is located,

(v)  Name the state where Vijayanagar Iron and Steel Plam
15 located,

(vi} NMame the state where Noida Software Technology Park
15 located.

(vii) On which river is Sardar Sarovar Dam constructed?

10




Map for Q. No. 26
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